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A ALRAA D
M AEXMNY 84
Chel: HeEXNE |4 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
AR AR 46,554,233 46,239,718 314,515
Xl 100,000
| 1,525,370
& 9,064,577
Al 35,864,286
ARRAMY FH 20,269,672 14,409,514 5,860,158
| 820,370
T 2,624,577
Al 16,824,725
ALIEXN=E 'Y 6,507,024 5,622,024 885,000
& 538,000
Al 5,969,024
ANZEANERSHIIESEXNII(EX) 4,200,000 3,685,000 515,000
= 508,000
Al 3,692,000
301 LEENZ 4,200,000 3,685,000 515,000
& 508,000
Al 3,692,000
2= - 2SRSEA3 4,200,000 3,685,000 515,000
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2 35244l 2,580 2,580 0
O 32323 2 MAl 2,580
O RE2A(zFH, Met2 8)
4303 x25+3,000A 2,580
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02 2IZHBYAIHE X 300,000 300,000
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